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Exercise 5 1

1. AC = AD and AB biseets A. show that

. What can you say aboutΔABC ≅ΔABD

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yKYPfUPFDErR


BC and BD? 

Watch Video Solution

2. In the figure, AC = AE, AB = AD and BAD = EAC.

Show that BC = DE 

https://dl.doubtnut.com/l/_yKYPfUPFDErR
https://dl.doubtnut.com/l/_2tQ9OZqYy57m


Watch Video Solution

3. AB is line segment and P is its mid point. D

and E are points on the same side of AB such

that BAD = ABE and EPA = DPB show that 

(i)  
ΔDAP ≅ΔEBP

https://dl.doubtnut.com/l/_2tQ9OZqYy57m
https://dl.doubtnut.com/l/_sFZsbxa89dVS


Exercise 5 2

(ii) AD = BE 

Watch Video Solution

1. In , AD is the perpendicular bisector

of BC. Show that  is an isoscelss tringle

ΔABC

ΔABC

https://dl.doubtnut.com/l/_sFZsbxa89dVS
https://dl.doubtnut.com/l/_76wCmWTr8Lwu


in which AB = AC. 

Watch Video Solution

2. ABC is an isosceles triangle in which

altitudes BE and CF are drawn to equal sides

AC and AB respectively. Show that these

https://dl.doubtnut.com/l/_76wCmWTr8Lwu
https://dl.doubtnut.com/l/_BpKA0CLm8t8b


altitudes are equal. 

Watch Video Solution

3. ABC is a triangle in which altitude BE and CF

to sides AC and AB are equal. Show that 

 
ΔABE ≅ΔACF

https://dl.doubtnut.com/l/_BpKA0CLm8t8b
https://dl.doubtnut.com/l/_ue2972vzUiaG


(ii) AB = AC, i.e., ABC is an isosceles triangle. 

Watch Video Solution

4. ABC and DBC are two isosceles triangles on

the same base BC. Show that ABD = ACD. 

https://dl.doubtnut.com/l/_ue2972vzUiaG
https://dl.doubtnut.com/l/_YwtydkY6PILA


Watch Video Solution

5.  is an isosceles triangle in which AB =

AC. Side BA is produced to D such that AD = AB.

ΔABC

https://dl.doubtnut.com/l/_YwtydkY6PILA
https://dl.doubtnut.com/l/_w54nyyTjnYQW


Show that BCD is a right angle. 

Watch Video Solution

6. ABC is right angled triangle in which

 and AB = AC. Find B and C.

Watch Video Solution

∠A = 90
∘

https://dl.doubtnut.com/l/_w54nyyTjnYQW
https://dl.doubtnut.com/l/_XiCmEk2CFIma


Exercise 5 3

7. Show that the angles of an equilateral

triangle are  each 


Watch Video Solution

60
∘

https://dl.doubtnut.com/l/_uVWffhDUqGcM
https://dl.doubtnut.com/l/_wGa6nEDrowF6


1. AD is an altiude of an isosceles triangle ABC

in which AB = AC. Show that 

(i) AD bisects BC (ii) AD bisects A. 

Watch Video Solution

https://dl.doubtnut.com/l/_wGa6nEDrowF6


2. Two sides AB and BC and median AM of one

triangle ABC are respectively equal to sides PQ

and QR and median PN of  PQR. Show that 

 


(ii)  


Watch Video Solution

Δ

ΔABM ≅ΔPQN

ΔABC ≅ΔPQR

https://dl.doubtnut.com/l/_DbjnsdyhsbO9


Exercise 5 4

3. BE and CF are two equal altitudes of a

triangle ABC. Using RHS congruence rule,

prove that the triangle ABC is isoscles.

Watch Video Solution

4. ABC is an isosceles triangle with AB = AC.

Draw AP  BC to show that A = B.

Watch Video Solution

⊥

https://dl.doubtnut.com/l/_Dym4ZikAsVrV
https://dl.doubtnut.com/l/_s3RwFTXXREZu


1. Show that in a right angled triangle, the

hypotenuse is the longest side.

Watch Video Solution

2. In Pr  PQ and PS bisects . Prove

that  


> ∠QPR

∠PSR > ∠PSQ

https://dl.doubtnut.com/l/_4rN48zoNb5Il
https://dl.doubtnut.com/l/_0OLc5gc6eQRZ


Watch Video Solution

3. Show that of all line segments drawn from a

given point not on it, the perpendicular line

segment is the shortest.

Watch Video Solution

https://dl.doubtnut.com/l/_0OLc5gc6eQRZ
https://dl.doubtnut.com/l/_aO5lGsrLQCMu


Exercise 5 5

1. ABC is triangle. Locate a point in the interior

of  ABC which is equidistant from all the

vertices of .

Watch Video Solution

Δ

ΔABC

2. In a triangle, locate a point in its interior of

which is equidistant from all the sides of

https://dl.doubtnut.com/l/_aO5lGsrLQCMu
https://dl.doubtnut.com/l/_rZsIDuUrZt5p
https://dl.doubtnut.com/l/_a3Ttb5n7uOoM


triangle. 

Watch Video Solution

3. Complete the hexagonal and star shaped

Rangolies, By filling them with as many

equilateral triangles of side 1 cm as you can.

https://dl.doubtnut.com/l/_a3Ttb5n7uOoM
https://dl.doubtnut.com/l/_hPbQs6zXJ2Kk


Exercise 5 7

Count the number of triangles in each case.

Which has more triangles. 

Watch Video Solution

1. Construct a triangle PQR in which QR = 6 cm,

 and PR = PQ = 2cm.Q = 60
∘

https://dl.doubtnut.com/l/_hPbQs6zXJ2Kk
https://dl.doubtnut.com/l/_nCYG5lrnVyMm


Watch Video Solution

https://dl.doubtnut.com/l/_nCYG5lrnVyMm

